Parent Functions and Graphs

Linear Quadratic (Parabola) Cubic
3t 34
2+ 21
1} 14
5 2 A T 2 3 3 2 4/0] 1 2
-1t 14
21 . . 21
30 . 1 2 3
.34 al 34
Constant (Horizontal Line) Absolute Value Square Root
y=c y= |x| y= \/;
44
44 31
3_
3 21
24
y=1 2 1
B T ol 1 2 3
3 2 1 0 1 2 3 )
Ry ; } ' 4 ! t =11
-3 -2 -1 0 1 2 3
2 14 21
Rational Rational (Squared)
Cube Root 1 1
y=3x YT X =
1 44
3 3l
24 ol 3,
11 1 21
14
3 2 1 0 1 2 3 5 3

24 =11

34 -2

MathTutorNotes.com



Greatest Integer (Step Function)

y = [x]
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Secant
y = sec(x)
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Exponential
y =b*
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Cosine
y = cos(x)

Cosecant
y = csc(x)
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Logarithmic
y = log(x)
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Tangent
y = tan(x)
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Cotangent
y = cot(x)
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Graphs of Other Common Equations
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Inner-Loop Limacon
r = a + bcos(8)
r = a + bsin(0)
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Lemniscate
r? = a? cos(20)
r? = a?sin(26)
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r?2 = 9 cos(20)

Common Polar Graphs

Circle
r = asin(0)
r = acos(8)

r = 2cos(h)
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Cardioid
r = a + bcos(8)
r = a + bsin(0)
a/b=1

r =1+ cos(0)
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Rose Curve (n even)
r = acos(nf)
r = asin(nod)
n even, 2n petals
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r = 3 cos(46)
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Archimedes’ Spiral
r=20
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One-Loop (Dimpled) Limacon
r = a + bcos(8)
r = a + bsin(0)
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Rose Curve (n odd)
r = acos(nf)
r = asin(no)
n odd, n petals

r = 3 cos(56)




